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Exercice 0.1 ⋆ Pas de titre

Calculer les intégrales suivantes en utilisant un changement de variable adéquat :

1.
∫

1

0

1

1 + ex
dx

2.
∫ 1

0
x
2
√

1− x2 dx

3.
∫

1
2

0

√

arcsinx

1− x2
dx

4.
∫

π

4

0

1

cos2 x
√

tanx
dx

5.
∫ 4

1

1

x+
√

x
dx

6.
∫ 1

0

1

1 + x+ x2
dx

Solution :

1. On pose

{

u = e
x

du = e
x
dx = udx

, on obtient :
∫ 1

0

1

1 + ex
dx =

∫

e

1

1

u (1 + u)
du =

∫

e

1

1

u
−

1

u+ 1
du =

[

lnu− ln (1 + u)
]

e

1

= ln 2− ln (e+ 1) + 1 .

2. On pose

{

u = cosx

du = − sinxdx
, on obtient :

∫ 1

0
x
2
√

1− x2 dx =
∫

π

2

0
cos2 u sin2 u du =

∫

π

2

0

1− cos 4u

8
du =

π

16
.

3. On pose







u = arcsinx

du =
dx

√

1− x2

, on obtient :
∫

1
2

0

√

arcsinx

1− x2
dx =

∫

π

6

0

√

u

1− sin2 u

√

1− sin2 udu =
∫

π

6

0

√

udu =
π

3
2

√

6

54
.

4. On pose







u =
√

tan(x)

du =
1

2 cos2 x
√

tanx
dx

, on obtient :
∫

π

4

0

1

cos2 x
√

tanx
dx =

∫

1

0
2 du = 2 .

1



5. On pose







u =
√

x

du =
dx

2
√

x

, on obtient :
∫ 4

1

1

x+
√

x
dx =

∫ 2

1

2

1 + u
du =

[

2 ln (1 + u)
]2

1

=

2 ln

(

3

2

)

.

6. On a :
∫

1

0

1

1 + x+ x2
dx =

∫

1

0

1
(

x+
1

2

)2

+
3

4

dx =
∫

1

0

4

3

1
(

2
√

3

(

x+
1

2

))2

+ 1

dx On

pose











u =
2
√

3

(

x+
1

2

)

du =
2
√

3
dx

, on obtient :
∫

1

0

1

1 + x+ x2
dx =

2
√

3

3

∫

√

3
√

3

3

1

1 + u2
du =

2
√

3

3

[

arctanu
]

√

3

√

3

3

=
π
√

3

9
.

Références


